80'

40'

FORTY FEET (1" = 40")

ONE INCH =

Ol

Ol

15" 30'

ONE FOOT
6"

THREE INCHES

ONE FOOT

ONE AND ONE HALF INCHES
6"

ONE FOOT

THREE QUARTERS INCH
6“

ONE FOOT

ONE HALF INCH

ONE FOOT

ONE QUARTER INCH

16

ONE FOOT

ONE EIGHT INCH

32

ONE FOOT

ONE SIXTEENTH INCH

6 5 4 3 2 1
SLAB REINF. SUPPORTED
) ) ON SLAB BOLSTERS (TOP
3/4'9 X 4 1/2" LG. HEADED STUDS (MIN. LAYER OF REINE. SHALL 8
SLAB REINE. SUPPORTED E\INUOM)BCI;S EI_EAFQN?EAM INDICATED THUS: RUN IN THE NORTH-SOUTH 2~ 5
ON SLAB BOLSTERS (TOP ' DIRECTION & BOTTOM = 3.7 .
LAYER OF REINF. SHALL 3/4"X4 1/2" LG. HEADED STUDS LAYER SHALL RUN IN THE o ‘
RUN IN THE NORTH-SOUTH 2" TERMINATE MTL. DECK TO (MIN. NUMBER PER BEAM EAST-WEST DIRECTION) =N UNSHORED CONSTRUCTION: DECK o O € OFPLATE {; EL.115-31/8 4 i
DIRECTION & BOTTOM /7 PROVIDE MIN. 6" WIDE RIB INDICATED THUS (NO.) ON g w : ) o, o K 5 > N oa s . : . . Z
LAYER SHALL RUN IN THE CENTERED OVER GIRDER. PLAN) on n L BEAM AND GIRDER WILL DEFLECT N 5 R {\ e e - /; o N > > D i
EAST.WEST DIRECTION) UNDER WET CONCRETE ABOUT #/480. ¢ OF — T oo bt AR, A7 N1 - . L]
/w 3 1/2" NOMINAL a & CONTRACTOR TO FINISH CONCRETE BEAM b SRS BRI N l|{ Sk 2|{> s b
(\ SEE —— Co—1 0 D 3 Zs 1 T N {LEVELFINISH TOP OF SLAB WITHIN +1/4 of e 5 b
e e a1 \'\b = N W $ TOSTL. [N-] : | < 1 1.7 INCH OF T.0.S. ELEVATION SHOWN ON $ TO.STL. SREE RIS <
4 4 e~ T.0.STL. | =z 773 | b > > g
{ | 4 C o L J » 7 ) ) DRAWINGS - 3 SIDES oy L K o . s L6X62(5/16Xl'-6" W/
2" COMP. MIN = o . e Y, ég/Téngg@on' o.c
6 DECK —AVERAGE — 0 T.0S. L5X3 1/2X5/16 (18" SR P o
< AVEAFLIXGE — pavily g« b g P G P ‘ $ LONG @ W24 & 12" SOLID C.M.U.
WIDTH T~ STD.DBL ANGLES (TYP) o9 A e > . B T _ LONG @ W16) W/ 2 COURSE
SHOP WELDED OR sl -83(/)4}_ _(I?)SETRHERC(;I'lIJCc);I\'l_'
BOLTED TO 51/2"
SUPPORTED BEAM. ' 13/16X2 1/2" HORIZ.
STEEL BEAM AND/OR GIRDER SLOTTED HOLES
~ STD. DBL. ANGLE NON-COMPOSITE COMPOSITE (COMP. & NON-COMP.)
4 CONNECTION =>4 GIRDER BEAMS
COMPOSITE 8" C.M.U. W/ EL.110-0"+
SUPPORTED BEAMS. NOTES: " $
GIRDER A #6@16" O.C.
NOTES: 1. DISTRIBUTE THE STUDS EQUALLY SPACED, TO THE EXTENT POSSIBLE, ¢ SUPPORT © SUPPORT CONC. WALL v 3/8X10 CAST-IN PLATE p\\
1. DISTRIBUTE THE STUDS EQUALLY SPACED, TO THE EXTENT POSSIBLE, THROUGHOUT LENGTH OF BEAM. ONE STUD/RIB WHERE POSSIBLE. | | W/ 10-3/4"@X5" LONG SOFFIT
THROUGHOUT LENGTH OF BEAM. ONE STUD/RIB WHERE POSSIBLE. HEADED STUDS@ W24 A VT
2. IF TWO STUDS PER DECK RIB ARE REQUIRED, LOCATE DOUBLE STUDS SPAN = L (INCHES) & 6-3/4"@X5" LONG | _— BRICK
2. IF TWO STUDS PER DECK RIB ARE REQUIRED, LOCATE DOUBLE ~ STUDS IN'RIBS CLOSEST TO SUPPORTS AT EACH END. HEADED STUDS @ W16
IN RIBS CLOSEST TO SUPPORTS AT EACH END. {
3. WHEN ONLY ONE STUD/RIB IS REQUIRED, LOCATE STUDS
3. WHEN ONLY ONE STUD/RIB IS REQUIRED, LOCATE STUDS DIRECTLY OVER DIRECTLY OVER BEAM WEB. WHEN TWO STUDS ARE REQUIRED
BEAM WEB. WHEN TWO STUDS ARE REQUIRED PER RIB, LOCATE AS PER RIB, LOCATE AS INDICATED IN SECTION ABOVE.
INDICATED IN SECTION ABOVE. SECTION SECTION SECTION
4. DESIGN LOADS FOR SHEAR STUDS: 3 4 5
4. DESIGN LOADS FOR SHEAR STUDS: 1 STUD/RIB - 10.6/STUD 3/4" =1'-0" 3/4" =1'-0" 3/4" =1'-0"
1 STUD/RIB - 10.6/STUD 2 STUDS/RIB - 7.6/STUD
2 STUDS/RIB - 7.6/STUD
5. MAXIMUM SPACING OF STUDS EQUALS 36 INCHES. PROVIDE ADDITIONAL
5. MAXIMUM SPACING OF STUDS EQUALS 36 INCHES. PROVIDE ADDITIONAL STUDS IF REQUIRED.
STUDS IF REQUIRED.
1 3/4" - 1I_0ll 2 3/4" - 1!_0"
: r
I
| 3/16 |
U " [
$ EL. 115-3 1/8 b b _ : i b : V _ i b : —e]
‘ f‘{ e - K TN 7e - s 2 e 0 ¢ ‘ TR . i o K o, . . N e ° a? f : | |
T .2 N\ b 3 YR ba ba a 4 2 " > > S bA__b 4 45 booa ba I b - b g = :
L. L5 s » K S B LT o i cooeh LT, > 8" GROUT FILLED C.M.U. W/ #6@32" — . 08
K N N 4 4y 2 a 3 3 > s P * “ 4 ap , b S 3 — j s 2 ° > \ : 3/4" TO 1 1/2" 3/16 3
e \_SN/\‘ o i EL. 115-3 1/8" }T
o b » - 3/8X8X12 PLATE : - Z - - —L : {; : . . |
P . B R 5 // , ! | 3/8X6X8 PLATE R o b 6\ 5 s by 2 | » . Lt 3 3 ’! = T \ T
. . 5o y | : .+ . @GN, ¢ - 7. | o), o s e ) . . ‘ . HSS12X12 @
. e > e v e -I;b RF| /7 ! S T, . N\ . b T . ! 254 . - R ; $ T.0O.STL. | :/
S ST o o217 | . RETY RN R . : SRR 4- 3/4"@ BOLTS @ ! ! 3/4" PLATE @
A ] Calosie) | 1. . S | S - L | |
L3 1/2X3 1/2X5/16 — - 7 ! | 0. » b ! o R 3/8X5X"L" PLATE | |
7 RFI E o s ’ . N y — 1 " "
o : T | R SRR A | E b T 3MEX 2 12 EL. 1957 5/8" @ A in:
£ 111 11/16 § - 9'-95/16 L R A : *e e Ty, HORIZ. SLOTTED i i
NAAAAAAN a4 a 4 l_ n
T RA | > . b = ! s . HOLES FOR EL.180-7 5/8" @
06214 | s, ‘) > > I N av 2-3/4"(1 ERECTION
| T R | BOLTS.
“ 4 a b4 g 3 < <
| BUILDING A R PR | MTL. PANEL 3/8" PLATE o
| EXTERIOR L B R VO f THUS: © OF BEAM CONNECTION SCHEDULE |
) », 3 ba 2 )
L3 1/2X3 1/2X1/4 @ 8'-0" O.C. MAX & EA. END OF CURTAIN WALL ! . . b : ! _ EQ. | EQ. oL TOTAL /
| . N s L | " .
.§( , . , N b | N { | { BEAMSIZE | \\cHES) gcT)Ugg - L
|+ a . >, 3 N > ) T T L,
“ 4, a 5 5 o ¢] o o | I
i CONT. L6X6X3/8 : s L e : : o W12X22 9 4 J ; ; W36 @
\ CONT. L6X6X3/8 ! T L ! + 3/8 STIFFENER PLATE ! !
a ;b N : : o o o o345 W12X26 9 4 EA. SIDE OF BEAM WEB ! ! W24 @
' !; EL. 109-0" X VR > : ! LA LONG W21x44 15 8 I I
r ! r : SR IR S . e HEADED 4- 3/4"@ BOLTS ! ! "
| E | E doo e o J | 4 ! & | o ! & ! HEADE | | 3/4" PLATE
! | CURTAIN WALL ! | . | | ) < " : |
: ! : : ! :
| ! l ! ! |
I I
: : I ! : :
| H ! | : !
_I_N_A_ _I_N_A_ |
| ! $ EL. 109'-0"
6 3/4" =1'-0" 7 3/4"=1'-0" 8 N.T.S. 9 B 3/4"=1'-0"
08 08
A H
A A 50 KSI STIFFENER PLATE TOP & BOT. EA.
ﬁ SIDE OF COLUMN WEB ALIGNED W/BEAM
., - 57 Etﬁmggs THICKNESS TO MATCH BEAM
N ' EL. 183-1 1/8"
-, ., W14 @ (38 ONLY $ R
3161/ 3-12 -
e
111l 1-11%e 3/16 J 1/2" PLATE W/ 2-3/4"®
r » 3/16 A\ TOSTL 14 I BOLTS
1" per RFI 5021 LATERAL LOAD CONN. , N 314" PLATE @ GBIONLY va | 3 Wip S :
) BY PRECAST SUPPLIER — i AR 3'@ STD. PIPE
A | 1/4 BENT PLATE L o
¢ P FR S e 2 N ‘/ i i .\ ! ! . EL. 181'-1 1/8" g | E
EL. 180-7 5/8" i N S EL. 180-7 5/8" - — o — i i $ ) N A RN 5
‘“" D k
: |+w I
- PRECAST PRECAST |
- PANEL " PANEL ' L Ll
Per RFI 4914:
: w24 1/2" PLATE W/ 4-3/4"®
Angles are not required due to the
Precast anchor attachment being \ . i i . BOLTS
embedded into the top of the \ /I 3/8" SINGLE SHEAR TAB RF!'7131: There is only one slab at elevation of 183'-1
concrete slab. HSS16X16 w/ 3/4"0 A325 S.C. BOLTS ] ] w24 tleiﬁer? tattht'fwee Isggttc\)l\:hrrew?g rt]rlwneerer?s(,) r;érzglzlzgcct)l\(/)grl\iavss
T i : T N
PRECASTCONNT 1/2 STIFFENER PLATE \ war - :
EA. SIDE OF BEAM WEB
j N 4-3/4"@ BOLTS
A A 3/4" CAP PLATE
LATERAL LOAD CONN.
10 SECTION - 11  SECTION - 1o SECTION - o 14 SECTION -
3/4"=1'-0 3/4"=1'-0 3/4"=1'-0 3/4"=1'-0
/\ /\
13A138 >°° TN A
[
3/4"=1'-0"
v v
CONSTRUCTION DOCUMENTS 1
FULLY SPRINKLERED
CONSULTANTS: ARCHITECT/ENGINEERS: PRATING TITHE PROJECT TITHE PROJECT NUMBER - || BUILDING NUMBER
: : STRUCTURAL DETAILS SLVHCS REPLACEMENT MEDICAL 629-HS2-401 8
DESMAN ASSOCIATES / PARKING ENTER PROJECT OFFICE OF
- NOVA
CODE CONSULTANTS, INC. / CODE CONSULTANT SNGF Lo, studio DOCUMENT SET PACKAGE CONSTRUCTION
o,
THE SEXTANT GROUP / AV & ACOUSTICAL % 2 SCHRENK & PETERSON CONSULTING ENGINEERS / CIVIL WP_09B AND FACILITIES
A -
HAMMER DESIGN ASSOCIATES / FOOD SERVICE 7'5‘% KORDA/NEMETH ENGINEERING / STRUCTURAL APPROVED: PROJECT DIRECTOR LOCATION DRAWING NUMBER
PYBURN & ODOM / ABATEMENT = mouduoone ~= || BR+A CONSULTING ENGINEERS / MECH, ELECT, PLUMBING, LOW VOLTAGE NEW ORLEANS. LOUISIANA MAINTENANCE
= LICENSF PF 33491 = - ’
TATA & HOWARD / TANK CONSULTANT Z @, PROFESSIONAL O = ARCHITECTURAL ENGINEERING / PLUMBING W )
1 |ADDENDUM #1 09/21/12 7, %, ENGINEERIN oS S Aot DATE CHECKED || DRAWN Denartment of
[.S.C. GROUP, INC. / IRRIGATION S NS SCALES ASSOCIATES / FIRE PROTECTION % epartment o
e e W July 16, 2012 TMD RJC Veterans Affairs
REVISIONS: DATE DAN EUSER WATER ARCHITECTURE, INC. / WATER FEATURE Hippw COMMUNICATIONS DESIGN GROUP / LOW VOLTAGE
6 5 4 3 2 1




